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énoncé

L’équation z + 2iz = 2 − 5i a pour solution dans C :

a) 1

b)
8

3
−

1

3
i

c) 2 −
5

2
i

d) −4 + 3i
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correction

Soient a et b deux réels, z = a + ib est solution de l’équation z + 2iz = 2 − 5i

si, et seulement si :
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correction

Soient a et b deux réels, z = a + ib est solution de l’équation z + 2iz = 2 − 5i

si, et seulement si :

z + 2iz = 2 − 5i ⇔ a + ib + 2i(a − ib) = 2 − 5i
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correction

Soient a et b deux réels, z = a + ib est solution de l’équation z + 2iz = 2 − 5i

si, et seulement si :

z + 2iz = 2 − 5i ⇔ a + ib + 2i(a − ib) = 2 − 5i

⇔ a + ib + 2ia − 2i
2
b = 2 − 5i
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correction

Soient a et b deux réels, z = a + ib est solution de l’équation z + 2iz = 2 − 5i

si, et seulement si :

z + 2iz = 2 − 5i ⇔ a + ib + 2i(a − ib) = 2 − 5i

⇔ a + ib + 2ia − 2i
2
b = 2 − 5i

⇔ (a + 2b − 2) + i(b + 2a + 5) = 0
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correction

Soient a et b deux réels, z = a + ib est solution de l’équation z + 2iz = 2 − 5i

si, et seulement si :

z + 2iz = 2 − 5i ⇔ a + ib + 2i(a − ib) = 2 − 5i

⇔ a + ib + 2ia − 2i
2
b = 2 − 5i

⇔ (a + 2b − 2) + i(b + 2a + 5) = 0

⇔

{

a + 2b − 2 = 0

b + 2a + 5 = 0
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correction

Soient a et b deux réels, z = a + ib est solution de l’équation z + 2iz = 2 − 5i

si, et seulement si :

z + 2iz = 2 − 5i ⇔ a + ib + 2i(a − ib) = 2 − 5i

⇔ a + ib + 2ia − 2i
2
b = 2 − 5i

⇔ (a + 2b − 2) + i(b + 2a + 5) = 0

⇔

{

a + 2b − 2 = 0

b + 2a + 5 = 0

⇔

{

a = 2 − 2b

b + 2(2 − 2b) + 5 = 0
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correction

Soient a et b deux réels, z = a + ib est solution de l’équation z + 2iz = 2 − 5i

si, et seulement si :

z + 2iz = 2 − 5i ⇔ a + ib + 2i(a − ib) = 2 − 5i

⇔ a + ib + 2ia − 2i
2
b = 2 − 5i

⇔ (a + 2b − 2) + i(b + 2a + 5) = 0

⇔

{

a + 2b − 2 = 0

b + 2a + 5 = 0

⇔

{

a = 2 − 2b

b + 2(2 − 2b) + 5 = 0

⇔

{

a = 2 − 2b

−3b = −9
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correction

Soient a et b deux réels, z = a + ib est solution de l’équation z + 2iz = 2 − 5i

si, et seulement si :

z + 2iz = 2 − 5i ⇔ a + ib + 2i(a − ib) = 2 − 5i

⇔ a + ib + 2ia − 2i
2
b = 2 − 5i

⇔ (a + 2b − 2) + i(b + 2a + 5) = 0

⇔

{

a + 2b − 2 = 0

b + 2a + 5 = 0

⇔

{

a = 2 − 2b

b + 2(2 − 2b) + 5 = 0

⇔

{

a = 2 − 2b

−3b = −9

⇔

{

a = −4

b = 3
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correction

Soient a et b deux réels, z = a + ib est solution de l’équation z + 2iz = 2 − 5i

si, et seulement si :

z + 2iz = 2 − 5i ⇔ a + ib + 2i(a − ib) = 2 − 5i

⇔ a + ib + 2ia − 2i
2
b = 2 − 5i

⇔ (a + 2b − 2) + i(b + 2a + 5) = 0

⇔

{

a + 2b − 2 = 0

b + 2a + 5 = 0

⇔

{

a = 2 − 2b

b + 2(2 − 2b) + 5 = 0

⇔

{

a = 2 − 2b

−3b = −9

⇔

{

a = −4

b = 3

réponse d)
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